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1. �√���√���√��√	�√
 + ���√�− 3√2 ∙ �
����√��� 

= �2√3 − 3√3 + 5√3√3	�√2 − 1� + 11 + √2 − 3√2 ∙ 1√2 − 1 = � 4√3√3	�√2 − 1� + 11 + √2 − 3√2 ∙ 1√2 − 1 = 

= � 4√2 − 1 + 11 + √2 − 3√2 ∙ 1√2 − 1 = �4 + 4√2 + √2 − 1 − 3√2�√2 − 1��1 + √2� ∙ 1√2 − 1 = 

= �3 + 2√2 ∙ 1√2 − 1 = ��√2 + 1�� ∙ 1√2 − 1 = √2 + 1√2 − 1 ∙ √2 + 1√2 + 1 = � + �√� 

 

 

 

2. ������� ∶ 	��
+ √��√��+ √��√� 	 ∶ 	√98 

= #�12527 ∙ 35 + √9√4 + √9√4	% ∶ �7	√2� = #�259 + 32 + 32	% ∶ �7	√2� = 

= &	53 + 3	' ∶ �7	√2� = 143 ∙ 17	√2 = 23	√2 ∙ √2√2 = √��  

 

 

 

3. �1 + √3 − √12( ��1 + √3 + √12( � − )6√3 − 2√23	 ∙ 	)6√3 + 2√23 

= �1 + √3�� − √12 − √108 − 92 = 1 + 2√3 + 3 − 2√3 − 4 = , 

 

 

 

 

4. 
-√�− -�

√� − -� = 0 

3.	√2 − .√2 + 3√2 − 3.6 = 0																										�2√2 − 3�. = −3√2 

. = 3√23 − 2√2 ∙ 3 + 2√23 + 2√2 = 9√2 + 12																												/ = 0√� + 1� 
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5. 
�
√3+. = 	√3���-� + �-�
√3 

3√3 − . − 6√3 + . + 3√3�3√3 + .��3√3 − .� = 0																								2. 4. : . ≠ ±3√3 

0. = 0																							∀/ ∈ ℝ − ;−�√�;	+�√�	= 
 

 

6. 
��√�√��- = -��√�-��-√�+ ��--  

. − .√2 + .� + √2 − √2 + .√2 + . − .�.�√2 − .� = 0																								2. 4. : . ≠ √2				∧ 				. ≠ 0 

2. = 0										. = 0						?@?	ABBCDDAEFGC	HCI	GC	B. A.:		∄/ ∈ ℝ 

 

 

7. K	. + L = √5 + 3. − L = √5 − 3 

K	. + L = √5 + 3. − L = √5 − 32.						 = 2√5. = √5
																												K	

. + L = √5 + 3−. + L = −√5 + 32L						 = 6L = 3  

M	/ = √NO = �  

 
 

8. 6 + .	√2 ≤ √6	�1 + √6� 

6 + .	√2 ≤ √6 + 6															.	√2 ≤ √6															/	 ≤ √� 

 

 

 

9. 
-	√���√��� ≥ 
√��-
√��� 

�.	√2 + 1��3√2 − 1� ≥ �3√2 + .��√2 + 1�																									6. − .√2 + 3√2 − 1 ≥ 6 + 3√2 + .√2 + . 

�5 − 2√2�. ≥ 7																									. ≥ 75 − 2√2 ∙ 5 + 2√25 + 2√2 																									/ ≥ R	�N + �√��1R  
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10. 
-	√���- < ���√� 

.	√2 − 2. − 1 − .1 + . > 0																																					 .	�√2 − 3� − 11 + . > 0 

U > 0:									. < 1√2 − 3 ∙ √2 + 3√2 + 3 																	. < −√2 + 37  

V > 0:									. > −1 

−1 < / < −√� + �R  

 


